KouiC 2
ElAnvirnd Madnuorixd

[TeotepanotnTa Twv Hpdlewy

‘Ovopo:
‘Aoxrnor 1: No ocuuminpdoete ta xevd ota eAAnvixd. (30 uovédec)

H npotepondtnra 1wV mpdenmy evan:

1) oTlC
2) xol
3) xol

‘Aoxrnon 2: Looto 1 Addog; (30 povddec)

Ywoto Addoc

6+4-5=15

H npdodeon eivon ‘ouv’

(3+2)-5=5-5=25

O molamhaoloouog etvar ‘ouy’

(3+2)-5=3+10=13

H agoipeon etvon Dol

‘Aocxnon 3: No xdvete tic npdéeic. (40 povddec)

(i) 4+ (=5)-2+7=

(i) (16—-5-4)-2—42+(3-9-2-3) =

(iii ) (=3)-(—2)-4—8-(5—20+4) =

—9-(—4)—6-6
(—4) - (=1000) — 1976

(iv )



